Sample Math problem
It is approximately 120 miles from St. Louis to Colombia, Missouri.  If you travel at a steady speed of 6- miles per hour, how long will it take you to go from St. Louis to Colombia, Missouri?  And if your hybrid automobile gets 40 miles per gallon of gas, how many gallons would you have used on this trip?
This is how you show your work below If you can’t scan your work and past it in the document as a graphic.
Part 1:
120 / 60 = 2 – It took 2 hours
Part 2:
120 / 40 = 3 – it used 3 gallons of gas
This is how it would look if you scanned your work and inserted it as a graphic
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